

#### SOCIETATEA NAȚIONALĂ DE TRANSPORT GAZE NATURALE "TRANSGAZ" SA

Capital social: 1.883.815.040,00 lei ORC: J32/301/2000; C.I.F.: RO 13068733 P-ţa C.I. Motaş, nr.1, cod 551130, Mediaş, Jud. Sibiu Tel: 0040 269 803333, 803334, Fax: 0040 269 839029 http://www.transgaz.ro; E-mail: cabinet@transgaz.ro



# REGULATED TARIFFS FOR ACTIVITIES RELATED TO THE OPERATION OF THE NATURAL GAS TRANSMISSION SYSTEM

## FOR THE PERIOD 1 OCTOBER 2025 – 30 SEPTEMBER 2026

I. The tariff for the related activity of issuing location permits for the transmission system requiring field visits

### -RON VAT excluded-

Tariff for the issuance of the approvals regarding the Transmission System	Low complexity (construction / constructible areas with area < 500 m <sup>2</sup> )	Average complexity (construction constructible areas with area between 501 and 1000 m <sup>2</sup> )	High complexity (construction/ constructible areas with area > 1000 m <sup>2</sup> )
Travel distance < 50 km	1,132.98	1,783.38	3,084.19
Travel distance between 51 and 100 km	1,529.83	2,180.24	3,481.04
Travel distance > 100 km	1,926.68	2,577.09	3,877.90
No Travel distance*/**	305.15	408.00	613.68

<sup>\*</sup> The complexity of non-travel fees refers to the time allocated for reviewing the documentation and issuing the Approval, and may be 1, 2, or 4 hours.

- \*\* Tariffs for cases where no field work is required will apply for the issuance of the following approvals:
- issuing the Approval for works that are outside the TS safety area;
- issuing the Approval for works to be carried out at a location for which a previous Approval has been issued (still valid), under the same technical conditions as those at the time of issuing the previous Approval.

*Note*: In the case of documentation for the development of Regional town planning, the following will be taken into account when setting the tariff:

- If travel is required to resolve the request, a fee will be charged based on the distance traveled and the complexity of the case. Complexity (low/medium/high) is determined by taking into account the constructible area.

- If no field visit is required to resolve the request, the fee will be charged according to complexity, in which case complexity is determined by the time required to analyze the file.
- II. Tariff for the related activity of the travel of a technical team to the designated location, other than as a result of a safety/security report:

### - RON VAT excluded -

Tariff for the travel of a technical team to the location	Low complexity (construction / constructible areas with area < 500 m <sup>2</sup>	Average complexity (construction / constructible areas with area between 501 and 1000 m2)	High complexity (construction / constructible areas with area > 1000 m2)
Travel distance < 50 km	867.64	1,312.36	2,201.80
Travel distance between 51 and 100 km	1,264.50	1,709.21	2,598.65
Travel distance > 100 km	1,661.35	2,106.07	2,995.50

III. Tariff for the related activity of the travel of a technical team for Transmission System safety and protection zone urban works assistance

### - RON VAT excluded-

Tariff for the travel of a technical team for urban works assistance	Low complexity (construction area < 500 m <sup>2</sup>	Average complexity (construction area between 501 and 1000 m2)	High complexity (construction area > 1000 m2)
Travel distance < 50 km	667.44	1,052.19	1,821.70
Travel distance between 51 and 100 km	914.79	1,299.55	2,069.06
Travel distance > 100 km	1,162.15	1,546.90	2,316.41

IV. Tariff for the related activity of interruption / limitation of technical parameters / resuming gas supply at the request of the end client, gas supplier or upstream supply pipeline operator/distribution operator, as applicable

## - RON VAT excluded -

Tariff for interruption / limitation of technical parameters / resuming gas supply	Low complexity (construction area < 500 m <sup>2</sup>	Average complexity (construction area between 501 and 1000 m2)	High complexity (construction area > 1000 m2)
Travel distance < 50 km	1,149.87	1,491.74	1,833.62
Travel distance between 51 and 100 km	1,888.60	2,230.47	2,572.35
Travel distance > 100 km	3,311.07	3,652.95	3,994.82

## V. Tariff for the related activity of commissioning of natural gas usage installations belonging to end customers directly connected to the TS (Art. 9^1)

## - RON VAT excluded -

Tariff for the related activity of commissioning of natural gas usage installations belonging to end customers directly connected to the TS	Proposed 2025-2026
Travel distance < 50 km	477.63
Travel distance between 51 - 100 km	728.22
Travel distance > 100 km	978.81
Without travel	241,60

## VI. Tariff for the related activity of the change of Transmission System facilities by deviation, at the request of the end client or third party

## - RON VAT excluded -

Tariff for the change of Transmission System facilities by deviation – technical solution	Low complexity (construction area < 500 m <sup>2</sup>	Average complexity (construction area between 501 and 1000 m2)	High complexity (construction area > 1000 m2)
Travel distance < 50 km	1,516.73	2,331.68	4,798.13
Travel distance between 51 and 100 km	1,913.58	2,967.56	5,194.98
Travel distance > 100 km	2,310.43	3,364.42	5,591.84

If following the receipt of the technical solution and the estimated work value, the requesting person decides to continue the changing of the Transmission System facilities by deviation with the TSO, the requesting person has to pay the estimated value substantiated by the TSO, and a settlement invoice based on the value recorded in the work Acceptance Report will be issued at the completion of the works.

If following the receipt of the technical solution and the estimated work value, the requesting person decides to continue the changing of the Transmission System facilities by deviation with other economic operators, authorized by ANRE, the requesting person has to pay to the TSO the following tariff:

### - RON VAT excluded -

Tariff for the change of Transmission System facilities by deviation – works approval, surveillance and acceptance	Low complexity (construction area < 500 m <sup>2</sup>	Average complexity (construction area between 501 and 1000 m2)	High complexity (construction area > 1000 m2)
Travel distance < 50 km	1,130.44	1,681.27	3,077.69
Travel distance between 51 and 100 km	1,527.30	2,078.13	3,474.55
Travel distance > 100 km	1,924.15	2,474.98	3,871.40

VII. Tariff for the related activity of the issue of copies of documents held by the license holder: technical document/ documents, approval certificate, certificate of approval in principle, Transmission System access certificate or certificate of Transmission System technical approval for connection.

### - RON VAT excluded -

Tariff for the issue of Transmission System approvals	Documents < 50 pages	Documents between 50 and 100 pages	Documents > 100 pages
Tariff	91.24	116.95	142.66